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PR NERE

THL | R7 -8« 9KFEENHER TFH (5 84E)

THXSy « TfE - FER H A7 B & & F # ] 7
18 HERE =K 1 23,238, 845
AL T = 1 3, 709, 425
TAT 7 MRS B T = 1 3,709, 425 |7y QLBR 50 m
INEGE AT 0. 15kg/m ;
N oyFuy” 30 t
DML FET A2/BF bt/ B ;
N oyFuy” 30 t
OFRLET A2/ 13FHECEM A 5tRW/H
Pkt T 2V 1 12, 025, 600
LT 2V 1 1,370,370 |FR¥EY 1 =K
b N
HWREL 1 =
T R
A T = 1 8,705,030 |7 VEvANUTRI{AIHE 100 m
PUT-B300-L2000 ;
7 VA NURLAR 1 100 m
PUT-B400-L2000 ;
7" VA NURLAR 1 100 m
PUT-B500-L2000 ;
7 VA NURLAR 1 100 m
BF- I -B300-L2000 ;
7 VA NURLAR 1 100 m
BF-II -B400-L2000 ;
SRR iRE 50 m
FU-B300-C800-L2000 ;
= 150 e
CT-B300-L500 ;
= 150 e
CT-B400-L500 ;
= 150 e

CT-B500-L500 ;
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PR NERE

THL | R7 -8« 9KFEENHER TFH (5 84E)

THRXSy - LHE - fER H A7 ¥ = & M A il ) 7
T 10 B
SG2T-B300-L995 ;
T 10 B
SG2T-B400-L995 ;
T 10 B
SG2T-B500-L995 ;
T 30 B
C-C-T-B300-L500 ;
T 5 B
C-G-T-B300-L995 ;
ARV T = 1,950,200 | BLG+4T HEE K 10 AT
MBFE 18-8-40BB W/C=60% ;
BUGAT Bkt 10 (530
MCHE 18-8-40BB W/C=60% ;
E 10 7'e
MSGT-500 X 500 ;
E 10 7'e
MSGT-700 X 700 ;
(o Zamn 2V 2,293, 300
[oZamn = 2,293,300 |f%A 200 m
Fa+ I #1-200-L2000 ;
A 130 m
Fb—-200-L2000 ;
A 30 m
Fc—50-L1000 ;
B A L 2V 2,423,610
BEARIBS AT T 2V 89,250 |7 =} V—w 5 m
Gr-A-4E FEYEA 21mAT HhR SR IE 4% ;
B (kA T 2V 2, 334,360 | Hi57% (REIMT) B (-4 60 m
P1-0. 8-3. OF #E#E4fA ;
HRYE CREIT) B (AT 60 m
P1-0.8-3. 0B fE#E4 (A ;
- 2- Ermy bR =
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THL | R7 -8« 9KFEENHER TFH (5 84E)

TEHEXSy - TfE - fER Bz ¥ = & A M i N 7
HATE (KRBT [ (A 60 m
P1-1.1-3. OF 1ZE#E4(n, ;
HAYE (KRBT [ (A 60 m
P1-1.1-3. 0B t=#E4(n, ;
ay)=p L = 1 869, 320
[hEay ) =) = 1 869, 320 | 40 m2
2y )-MTE 200 m2
18-8-40BB W/C<65% /L ;
HiEME T = 1 185, 590
S EUE L T X 1 86,240 |av))-MEE W EEE L 5 m3
MY B T
SRR 1 2V
TAT7VMEREERR 15emEL T
EHLE IR A A 50 m2
TAT7 W MEREE IR AlERE 15emBA T
HEAAE S E T = 1 99, 350 | UTRUMHITE L2 1 2V
PR A2 L=2000mm ;
g% T X 1 1, 732, 000
AEEB T = 1 1,732,000 | A3 A5y 5 1 2V
[ERERES 2V 1 23, 238, 845
Il R = 1 3, 262, 000
Homfetr (REE) = 1 3, 262, 000
T = 1 26, 500, 845
Bl H 2V 1 13, 075, 000

-3 - ESR o3 iiK < o] e ok S




FNER

THL | R7 -8« 9KFEENHER TFH (5 84E)

THXSy - T - flj HOfr B & & fH # bl 2 g
TRl = 39, 575, 845
—fRE % v 7,574,155
LR v 14, 420, 000
T ffik& = 61, 570, 000
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PR NERE

THL | R7 -8« 9KFEENHERTF (5 94E)

THEXSy - TH - Fl5 H A7 B & & F A ] 7
18 HERE =K 1 9, 693, 109
AL T = 1 1,854, 712
TAT 7 MRS B T = 1 1,854,712 | )79/ L¥E 25 m
INEGE AT 0. 15kg/m ;
N oyFvyT 15 t
DML FET A2/BF bt/ B ;
N oyFuy” 15 t
@EHLET A ISFHECEM A 5L/ A
Pkt T 2V 1 4, 639, 855
LT =K 1 704, 160 | FRHE Y 1 =K
b N
HWREL 1 =
T R
e N 1 2,960,595 |7 VA UBL T 30 n
PUT-B300-L2000 ;
7 VA NURLAR 1 30 m
PUT-B400-L2000 ;
7" VA NURLAR 1 30 m
PUT-B500-L2000 ;
7 VA NURLAR 1 30 m
BF- I -B300-L2000 ;
7 VA NURLAR 1 30 m
BF-II -B400-L2000 ;
SRR iRE 20 m
FU-B300-C800-L2000 ;
= 50 e
CT-B300-L500 ;
T 50 B
CT-B400-L500 ;
T 50 B

CT-B500-L500 ;
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Vaviarel =1
FERNRE
TEHE4L | R7 -8 - QKFUENHMEER TF (5F094E)
THRXSy - LHE - fER H A7 ¥ = & M A il ) 7
T 5 B
SG2T-B300-L995 ;
T 5 B
SG2T-B400-L995 ;
T 5 B
SG2T-B500-L995 ;
T 15 B
C-C-T-B300-L500 ;
T 3 B
C-G-T-B300-L995 ;
LK 2V L 2V 1 975,100 | BIGHT HEAK 5 (530
MBFE 18-8-40BB W/C=60% ;
BUGAT Bkt 5 (530
MCHE 18-8-40BB W/C=60% ;
e 5 5
MSGT-500 X 500 ;
e 5 5
MSGT-700 X 700 ;
(o Zamn 2V 1 1, 146, 650
[oZamn = 1 1,146,650 |f&A 100 m
Fa+ I #1-200-L2000 ;
fxf 65 m
Fb—-200-L2000 ;
fxf 15 m
Fc—50-L1000 ;
B A L 2V 1 637, 140
BEARIBS AT T 2V 1 53,550 |4 =} VW 3 m
Gr-A-4E FEYEA 21mAT HhR SR IE 4% ;
B 1k At T 2V 1 583,590 |5k (REIT) Bh -4 15 m
P1-0. 8-3. OF #E#E4fA ;
HRYE CREIT) B (AT 15 m
P1-0.8-3. 0B fE#E4 (A ;
— 2 —
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B N ERE

THL | R7 -8« 9KFEENHERTF (5 94E)

TEHEXSy - TfE - fER Bz ¥ & & A M i N 7
HATE (KRBT [ (A 15 m
P1-1.1-3. OF 1ZE#E4(n, ;
HAYE (KRBT [ (A 15 m
P1-1.1-3. 0B t=#E4(n, ;
ay)=p L = 1 434, 660
[hEay ) =) = 1 434,660 | HH 20 m2
2y )-MTE 100 m2
18-8-40BB W/C<65% /L ;
HiEME T = 1 114, 092
S EUE L T X 1 64,417 |av))-MEE Y EEE L 3 m3
MY B T
SRR 1 2V
TAT7VMEREERR 15emEL T
EHLE IR A A 25 m2
TAT7 W MEREE IR AlERE 15emBA T
HEAAE S E T = 1 49,675 | UTRMAITE 2 1 2V
PR A2 L=2000mm ;
g% T X 1 866, 000
AEEB T = 1 866, 000 | A2 E i B 1 2V
[ERERES 2V 1 9, 693, 109
Il R = 1 1, 855, 000
Homfetr (REE) = 1 1, 855, 000
T = 1 11, 548, 109
Bl H 2V 1 6, 507, 000

-3 - ESR o3 iiK < o] e ok S




FNER

THL | R7 -8« 9KFEENHERTF (5 94E)

THXSy - T - flj HOfr B & & fH # bl 2 g
TRl = 18, 055, 109
—fRE % v 3, 754, 891
LR v 9, 230, 000
T ffik& = 31, 040, 000
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PR NERE

THL | R7 -8« 9KFEENHERTF (5 74£E)

THXSy « TfE - FER H A7 B & & F # ] 7
18 HERE =K 1 23,238, 845
AL T = 1 3, 709, 425
TAT 7 MRS B T = 1 3,709, 425 |7y QLBR 50 m
INEGE AT 0. 15kg/m ;
N oyFuy” 30 t
DML FET A2/BF bt/ B ;
N oyFuy” 30 t
OFRLET A2/ 13FHECEM A 5tRW/H
Pkt T 2V 1 12, 025, 600
LT 2V 1 1,370,370 |FR¥EY 1 =K
b N
HWREL 1 =
T R
A T = 1 8,705,030 |7 VEvANUTRI{AIHE 100 m
PUT-B300-L2000 ;
7 VA NURLAR 1 100 m
PUT-B400-L2000 ;
7" VA NURLAR 1 100 m
PUT-B500-L2000 ;
7 VA NURLAR 1 100 m
BF- I -B300-L2000 ;
7 VA NURLAR 1 100 m
BF-II -B400-L2000 ;
SRR iRE 50 m
FU-B300-C800-L2000 ;
= 150 e
CT-B300-L500 ;
= 150 e
CT-B400-L500 ;
= 150 e

CT-B500-L500 ;

Esimd Aokt s R




PR NERE

THL | R7 -8« 9KFEENHERTF (5 74£E)

THRXSy - LHE - fER H A7 ¥ = & M A il ) 7
T 10 B
SG2T-B300-L995 ;
T 10 B
SG2T-B400-L995 ;
T 10 B
SG2T-B500-L995 ;
T 30 B
C-C-T-B300-L500 ;
T 5 B
C-G-T-B300-L995 ;
ARV T = 1,950,200 | BLG+4T HEE K 10 AT
MBFE 18-8-40BB W/C=60% ;
BUGAT Bkt 10 (530
MCHE 18-8-40BB W/C=60% ;
E 10 7'e
MSGT-500 X 500 ;
E 10 7'e
MSGT-700 X 700 ;
(o Zamn 2V 2,293, 300
[oZamn = 2,293,300 |f%A 200 m
Fa+ I #1-200-L2000 ;
A 130 m
Fb—-200-L2000 ;
A 30 m
Fc—50-L1000 ;
B A L 2V 2,423,610
BEARIBS AT T 2V 89,250 |7 =} V—w 5 m
Gr-A-4E FEYEA 21mAT HhR SR IE 4% ;
B (kA T 2V 2, 334,360 | Hi57% (REIMT) B (-4 60 m
P1-0. 8-3. OF #E#E4fA ;
HRYE CREIT) B (AT 60 m
P1-0.8-3. 0B fE#E4 (A ;
- 2- Ermy bR =
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B N ERE

THL | R7 -8« 9KFEENHERTF (5 74£E)

TEHEXSy - TfE - fER Bz ¥ & & A M il N 7
HATE (KRBT [ (A 60 m
P1-1.1-3. OF 1ZE#E4(n, ;
HAYE (KRBT [ (A 60 m
P1-1.1-3. 0B t=#E4(n, ;
ay)=p L = 1 869, 320
[hEay ) =) 2V 1 869, 320 | 40 m2
/) ) - T R% 200 m2
18-8-40BB W/C<65% /L ;
HiEME T = 1 185, 590
g EUE L T X 1 86,240 |av))-MEEWEUE L 5 m3
MY B T
SRR 1 2V
TAT7VMEREERR 15emEL T
EHLE IR A A 50 m2
TAT7 W MEREE IR AlERE 15emBA T
HEAAE S E T = 1 99, 350 | UTRUMHITE L2 1 2V
PR A2 L=2000mm ;
g% T X 1 1, 732, 000
AEEB T = 1 1,732,000 | A3 A5y 5 1 2V
[ERERES 2V 1 23, 238, 845
o = 1 3, 320, 800
Bt = 1 58, 800
e = 1 58,800 | 1 I fiti i FE AT B E 1 A
Il (it L) = 1 3, 262, 000

-3 - ESR o3 iiK < o] e ok S




FNER

THL | R7 -8« 9KFEENHERTF (5 74£E)

THXSy - T - flj HOfr B & & fH # bl 2 g
TR v 1 26, 559, 645
B E R X 1 13, 101, 000
TRl v 1 39, 660, 645
—fRE % v 1 7,589, 355
LR X 1 14, 270, 000
T ffik& v 1 61, 520, 000
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